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13. /latkKymwo ypok: KomaHmenHa

l. Text

EnyH nanbimbidke KOMAHMenHam KyswTHe)Ke. Peuentoim caliblH Nanbige, Tamne

KOMaHMeNHaM Ky3liTall orew Ani, caHgeHe Tyao Eny gey KomaHmenHa peuentbiMm KoOHAALW

nono.

30a: — Eny, Tbil peuenTbiM KOHAALW WblY MOHAO?

Eny: — Wbim MOHAO, KOHAbIWbIM. HO Mblli BO3@H WbIM LIYKTO, XXanem yke bin'e. Mbin
«Mapuit KOYKbILW» KHUTAM KOHZbILIbIM, BO3€H Hal.

«KomaHmenHam blwTaw Kym Typno
pyawbiM  AmaplibiMaH.  Kywbin  Kom
pyawnaH 150 (wyao sutne) r wynoo noxKa
Aa 250 (kokwyaod sutne) r ymban kynew.
MoKwen kom pyawnaH 50 (sutne) r wynuod
noxauw, 100 (wyaod) r ymban aa 150 (wyao
BUT/IE) T KYUbIMO TOPbIK an’e Kepup Kynewl.
Vnbin kom pyawnan 300 (kymwyad) r
WhblgaH noxaw aa 3 — 4 (KymM-Hbln) MyHO
KynbIT. MenHam KyawTme pfed KaHaaw
WwaraT OHYbIY  KYWbI1 KOM  pyallbiM
AMAbINbI3a: WYAbO noxawbim Yymban geHe
NyYrbi3a [a WOKWbIPpaK Bepew LWbIHAbI3A.
Bapa ynbin Oa NOKWen KOm pyalwbim
bILWTbI3A. PyawbIw WWHYaNbIM NblWTawWw Maa
MoHZo. LWynbd noxawpa yKe TbiH,
repkynecbim HanblH KepTblga. MenHam
KyaWTaLw yabll KOM pyaw AeHe TyHan3a. 1,5-2 (MKTaT nesne — KOK) MM KYXKrbITaH KOMbIM
bILTbI3a Aa KOHTAL KyawTca. Bapa Tuae kom ymbanaH noKwen Kom pyallbiM Wpbi3a Aa yaLw
KOHTAW WbIHAbI3A. MbiTapTbiWaAaH KOKbIMWO KOM YymbanaH KyLbln KOM pyallbiM NbIWTbI3a
03 yrold KyawTca. Amae menHam yii geHe caiibiH Wypbi3a. MNepKaH anixke!»
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BO3€eH
WwyKTaw (-em)

ras
repkynec

€4 OHYbIMY
Kepup

KOHTa

KYXKIbIT
KY4bIMO
KY4bIMO TOPbIK

KYLWbIN

nyraw (-em)
MUAAUMETP (MMm)
MoHaaLu (-em)
HO

nepkaH

k nepKaH aunixe!

/II. Vocabulary

BO3eH Hanauw (-am)

KY3LWTMe [e4 OHYbIY

to copy down, to copy out

to write, to finish
writing

gas
oatmeal

before

kefir

oven

width, thickness
uncooked, raw
sour clotted milk
upper, highest
before baking

to mix, to blend
millimeter

to forget

but

substantial, filling,
nourishing

enjoy your meal!

nokwen

nbiTapTbiWwnaH

nbiwTaw (-em)

pyaw

caHaeHe

TOpPbIK
TyHanaw (-am)
yrbiy

yaw

yabin

ymban
ymbanaH
WwuHYan
WyKTaw (-em)
Wwynbo

wypaw (-em)

WwhiHAawW (-em)

middle, center

at last, finally,
in the end

to lay, to put, to place
dough

therefore, thus,
consequently

curds

to begin

again, anew

again, anew

lower, bottom

sour cream

on, onto

salt

to carry out, to fulfill
oats

to spread, to smear

to set, to place, to put

J

Ill. Grammar

1. cadnaH, cadnaH K6pa, caHoeHe:

These conjunctions meaning ‘therefore, thus, consequently, so’ introduce consecutive
clauses denoting a consequence or a circumstance justified by the main clause. These clauses

typically come after the main clause.

MBYK KHUram HanHexe, cagnaH
6ubnnoTeKbILL KaA.

Ivuk wants to take out a book and so he
goes to the library.

NBYK Yepne bin'e, cagnaH Képa TONbIH biLl
KepT.

Ivuk was sick and thus was not able to
come.

304 Tamsie KOMaHMeTHAM KY3LIT OK MOLUTO,
caHAeHe Eny TyanaH peuentbiMm KOHAA.

Zoya doesn’t know how to bake a good
layered pancake, so Yelu is bringing her a
recipe.

2. Negative gerund in -de:

Formation: The gerund is formed with the suffix -de, which is added to the verbal stem. The
suffix is always stressed. Since this suffix begins with a consonant, the verbal stems of first
conjugation verbs ending in certain consonant clusters are automatically simplified, see
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6.111.1. (page 98). In the verbal stems of the second conjugation, the usual change -e/-0/-6 > -b1
occurs before the suffix is added.

Conjugation |
Infinitive Verbal stem Gerund in -Oe
nypauw (-am) to read nya- nyane
Hanauw (-am) to take Han- Hange
TyHemau (-am) | to learn TYHEM- TyHemae
KouKauw (-am) | to eat KOUK- (> Kou-) Kouode
WKHYawW (-am) | to sit down WKHY- (> wny-) | wuyde
neKktauw (-am) | to leave NeKT- (> nek-) nekoe

Note in addition the consonant alternation 3 ~ y in the verb go3aw (-am) ‘to lie down; to fall’:
souoe.

Conjugation Il
Infinitive Verbal stem Gerund in -Oe
Bo3au (-em) to write BO30- BO3blae
nypaw (-em) to enter nypo- nypolge
unaw (-em) to live nne- nnblge
Kenwauw (-em) | to agree Kenwe- Kenwblge
KaAaw (-em) to go Kae- Kanblage

Usage: The gerund can express various adverbial complements, such as those of manner,
instrument, state, and condition, and can often be translated as ‘without doing (something)’.

Without going into the water, you can’t
learn how to swim.

The hunters went straight into the forest
without eating or drinking.

How can you live without working?

Byabiw nypblae, UALl OT TYHEM.

CoHapse-Bnak kKoyge-inyae surak
yogblpallKe KanbIwWwT.
Kyse Tbil4 nawam bllWTblAe UieH KepTaT?

3. Negation of the simple past tense I:

The simple past tense | — see 12.11.4. (page 171) — is negated with the negation verb in the
past tense followed by the verbal stem. Since the verbal stem is in word-final position, the
verbal stems of first conjugation verbs ending in certain consonant clusters are automatically
simplified, see 6.111.1. (page 98).

1Sg | wbim
2Sg | wbiy
3Sg | biw
1PI bILWHA
2Pl blluAa
3Pl | biwT
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Conjugation I: nygaw Conjugation Il: Bo3aw
Positive Negative Positive Negative

1Sg | nyabim WbIM Nya, BO3bILUbIM WbIM BO30
2Sg | nyabiy Wby Ny4, BO3bILWbIY WbIY BO30O
3Sg | nyao bW Ny4, BO3blLL bl BO30
1Pl | nygHa bilWHa Ny4, BO3blLWIHA bllWHA BO30
2Pl | nynpna bllga nyg, BO3blWAA bllAa BO30O
3Pl | nyabiu bIWT NIYA, BO3bILWIT bILIT BO30

The only grammatical difference between the negated present and the negated simple past
tense | lies in the form of the negation verb.

Conjugation I: Tonaw Conjugation Il: biwTaw
Negated present Negated past Negated present Negated past

1Sg | om TON WbIM TON OM blLWwTE WbIM bllITE

2Sg | ot TON WblY4 TON OT blWwTe WbIY blWTE

3Sg | orew (oK) Ton bILL TON orew (OK) biwTe billl bILLTE

1P| | orbiHa (oHa) TON blLLHA TON orbiHa (oHa) biwTe bllLHA blITE

2Pl | orbipa (opa) Ton bILLAA TON orbiaa (oaa) biwTe bilLAA bilITE

3Pl | orbiT TON bILIT TON OrbIT bilITE bILT bILLTE

4. Negation of existential and possessive clauses in simple past tense I:
Note the negation of existential clauses in simple past tense |, formed by the particle yke in
combination with the positive form s11’e — compare 8.111.6. (page 123):

| Okca yke bin’'e. ‘ There was no money. |

Possessive clauses work in an analogous fashion:

| *anem yke bin'e. ’ | didn’t have time. |

IV. Words and word usage

1. Approximate numbers:
When expressing approximate numbers, one possibility is to use two numbers after each
other.

KYM-HbI/1 MYHO three or four eggs, three to four eggs
WKTAT nene — KoK MUIIMMeTp one point five to two millimeters
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V. Exercises

1. Complete the following sentences by connecting them with one of the clauses listed below
using cadnaH, cadnaH K6pa or caHoeHe.

1) Twae KouKbilw new Tamnae, ...

2) Mblih KOTbINbbIM KY3LITHEM, ...

3) Tuae onma new Liepre, ...

4) TyAblH Taye LWOYMO KeUbIXKE, ...

5) HyHblNaH 3pnanaH nawam NbiTapbiMaH, ...

a) ... Mbli TyAbIM OM Han.

b) ... Ty4o KOMaHMenHam KyawTe.

C) ... HYHO Mawam Kac MapTe bIWTbILT.
d) ... MbIA Tyabim MOpaTeH KOYKaM.

€) ... MbI1 1OXKALLbIM HaNall Kaem.

2. Complete the following sentences by connecting them with one of the clauses listed below.

1) EnyH Taye WOYMO KeublXKe, CaanaH ...

2) MeMmHaH NnorKalHa yKe, CaHAEeHe ...

3) MbIii arepybiM Ky3e biluTall OM Nasie, cagaH ...
4) Twupge noyenamyT MblN1aHEM OK Ke/lle, CaHAeHe ...
5) TeHreue poabiHa TO/1bO, caasiaH Kopa ...

6) AHyLW new yepne, cagnaH ...

7) Taue new WOKLWO, cagnaH Kopa ...

a) ... *KoBamnaH MbIHTbIPTEM.

b) .. me ewre *norbiHbiWwHa.

c) ..Cepre TyanaH *neneapiwbim Nnénekna.

d) ... MbI TyAbIM OM TYHEM.

e) .. CanaeBMbIT *Anbill bIWT Kae.

f) ... DuaH KeBbITbIW NOXKALIbIM HaNaLl KaibiLl.
g) ... aBaxe nawaul bl KaM.

* kosa ‘grandmother’, nozsiHaw (-em) ‘to gather, to come together’, nesnedeiw ‘flower’, an
‘village; countryside’



13. JlaTKymMmLLO YpoK: KomaHmesiHa 185

3. Complete the following sentences by connecting them with one of the clauses listed below.

1) ...cagnaH mbiii 6UBANOTEKbIL Kaem.

2) ...caHaeHe TyAo *apaeHe apak KbiH'en’e.
3) ... cagnaH Me caMOBapbIM WbIHAbILWHA.
4) ... cagnaH KOpa HYHO Yoapblpall KanbIwT.
5) ...cagnaH *MonbiH Kasaw BepeLuTe.

a) Baum eye aeHe myHYanTbiHeXe,

b) MemHaH ymblHa Wyaw,

c) Mbinam KHUra KyneLu,

d) MbiibiH *TaKkcKMnaH okcam bl *cuTe,
e) *TeHwuii yoapipalwiTe WYKO NOHTO YO,

* apdeHe apak ‘early in the morning’, tiosnbiH ‘on foot’, makcu ‘taxi’, cumaw (-em) ‘to be
enough, to suffice’, mernui ‘this year’

4. Form the negative gerund of the following verbs. Example: Hasnaw > HanOde.

KyawTaww cuirnaw MoLuTaw nblwTaL
OHYasaw wonaw KanL WbIHAALL
novatu nypaw TaM/1eH Hanaw TONaLW

LoHaL nyaw KOYKbIH OHYaLL nbiTapaLl
woraw KouKa nyaw TyHanaw

5. Translate into English.

1) Byablw nypblge, *mnaw ot TyHem.

2) *LeHrekeT oHYanZe, OHYbIKO UT Kae.

3) KanbikbiMm *yxKae, UAbiLbIM OT YiK.

4) *TambIim Hange, KOYKblILLbIM Nasaall oK JIUN.
5) Mawam biWwTeH NbiTapblae UT *KyaHe.

* uaw (-am) ‘to swim’, weHzekem ‘behind you’ /postposition wereeke ‘behind’ + possessive
suffix/, ys#caw (-am) ‘to see’, unviw ‘life’, mam ‘taste’ (mamoeim Hanaw = mamaeH Hanaw ‘to
taste’), kyaHaw (-em) ‘to be happy/glad’

6. Form the negative gerund of the verb in parentheses.

1) Yalibim (Myaw) ut Kai.

2) MonaH nawaw (Ko4yKaw) KaeT?

3) YHam (cuinnalu) oK AUN.

4) Kyse Tbi (Nawam bilTal) UneH Keprtar?
5) KouKbiWwbIiM TaMneH (Hanaw) UT *MOKTO.
6) 3Ombim (Myaw), oT *TOpnaHe.

7) Mawam (nbiTapail), MOHTbIWKO UT Kal.

* mokmauw (-em) ‘to praise’, mépnaHaw (-em) ‘to recover, to get better’
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7. Form negative gerunds from the following verbs and insert them into the appropriate
sentences: canamaaw, Mywkaw, siwumaw, Kyoawaw, *olinaw.

1) *Kuapim ..., KOYKaLW UT WNY.
2) *ManbTOM ..., OHYBIKO UT 3pTe.
3) MonaH ... 3pTeH Kaet?

4) WMonTawbIMm ... OK NN

5) YpPOKbIM ..., LWUKOAbILW UT Kail.

* olinaw (-em) ‘to say, to tell, to talk’, kud ‘arm, hand’, nanemo ‘(over)coat’

8. Rewrite the following sentences using all personal pronouns.

1) Mblit WOPbLIM WbIM Han.
2) Mbili TeaTpbIWw WbIM Kali.

9. Negate the following sentences.

1) MbI TeHTeYe arepyblM KYaLTbIM.

2) Kouam wbinbim Han'e.

3) Me yoabipaliTe WYKO NOHTbIM NOrbIWHA.
4) 3dyaHnaH Kyry *Kosn BepeluTe.

5) TyYHbIKTbILWO 34aHbIM YPOKbILITO 10A0.
6) Tyao MonTallbiXKbiM CanaM/bILL.

7) 308 KOrblNibbIM KOYKO.

8) TyapblH KaHaLWbIXKe MblJIaHeM Ke/LblILL.
9) Kouar KacTeHe T0/1b0.

10) Moua *iomkbim MYWITO BYA A€HE MYLLKO.
11) Me nawaHam XanbIWTbIXKe NbiTapblllHa.

* kon ‘fish’, lion ‘leg, foot’

10. Complete the following dialogues, giving negative answers.

a) —  3yaH, TbiM NaWAaTbIM MNbITapbIWbIY? — YKe, WbIM NbiTape.
— A lionTawert nbiTapbiw? — YKe, TyAar ... .
— SuaH aeH UBykK, Te nawagam ... ? — YKe, ... .
—  SuaH aeH UBYK NawawTbim ... ? — YKe, ... .

b) — Cepre, Tbilt TeHTeYe Tenesusop aeHe GpyT601bIM OHYbIWbIY?
- VYKe, ...
— AEny..?-VYke, Tygar....
— A DyvaH geH nontawbike? — YKe, HyHar ... .

* menesusop ‘television, TV set’, pymbon ‘football, soccer’

11. Translate the answers given to the following questions into Mari.

1) Tyao monaH KorbinbbiM biw Ky3wT? (He doesn’t know how to bake pies.)
2) Te monaH HyHbIM biwaa canamne? (We didn’t see them.)

3) Te monaH biwaa kan? (I was sick yesterday.)

4) Tblt MONAH TyabIM WbIY Y>K? (She isn’t my friend.)

5) Tyno TbinaHeT mosaH KHuraxbim biw ny? (He didn’t come to school today.)
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12. Give negative answers and explain that you will be doing these things at a later point
(denoted in English in parentheses). Example: Toili nawameim neimapeiwoely? — YKe, wbim
neimape, 3pad neimapem.

1) Toii KO. ApTaMOHOBbIH *poMaHKbiM Nyably? (in summer)
2) Toint KoroiinaH *cepblwbiM BO3bIWbIY? (tomorrow)

3) TbIM KHMram 6uUbAMOTEKbIWTE HaNbbIY? (on Monday)

4) Tblih KeyblBanaaH KouKbIY? (in the evening)

* pomaH ‘novel’, cepobiw ‘letter’

13. Give negative answers to the following questions.

—  TbllA KHMram WbiY Han? — YKe, WbIM Ha.
—  TbI *TeKcTbiMm Wby nya? — YKe, ... .
—  Tblli ypOKAaH WbIY amAablnant? — YKke, ... .
—  Tblli nawallKe wWbiy Kan? — YKe, ... .
—  TbIli NOHTBLIM WbIY NOro? — YKe, ... .

* mekcm ‘text’

14. Replace the pronoun meili in the questions of the previous exercise with me and then give
two negative answers, reflecting the fact that me can be the second person plural pronoun
(answer: me) or the second person polite form singular and plural (answers: moili or me).
Example: Te kHuzam biwda Haa? — YKe, wbimM HAA. YKe, bIlUHA HA/.

15. Today Vachi was quite lazy. Translate into Mari everything that he did not do.

1) He didn’t help me.

2) He didn’t prepare the noon meal. /keubiean Koukbiwbim amdbinawi/
3) Hedidn’t go to the store.

4) He didn’t buy (any) bread.

5) He didn’t bake (any) pies (Sg.).

6) He didn’t gather (any) mushrooms (Sg.).

7) He didn’t wash the spoons (Sg.).

16. Write down the dictation.



